Run 6111 mpswise, accO: All

: Entries: 581224
EGDDG __ Mean: 100954 /- 0ODET
u Sid Dev: 6365 +- 0.0059
40000 —
30000 [
20000
10000 |—
_l_ 1 | | I | | | 1 | | |
% 5 25
AccO/MNACcD
Run 6111, mpswise, accO: Beam ON, Laser ON
25000 - Entries: 277370
: Mean: 16.5075 «- LOME
B Std Dev: 08422 +- 0.0011
20000 —
15000 |—
10000 |—
5000 |—
0 Ll | I N N N N N T M NN MO B
10 12 14 16 18 20 22 24 26

AccQiNAccD

Run 6111 mpswise, acc(: Beam OFF

B Entries: 51789
2500 __ Meari: 103943 +/- 00006
: Sid Dy 01368 - 0.0004
2000 —
1500 —
1000 —
500 —
[ g
0 18
AccDiNACcO
Run 6111, mpswise, acc0: Beam ON, Laser OFF
10000 — Entries: 213230
: Mean: 43161 +/- 0.0009
2000 __ Std Dev: 0.4218 +- 0,000
6000 —
4000 —
2000 —
'D_""l"" N B N B N AN N A IO O A A B il
2 2.5 3 3.5 4 4.5 5 5.5 6 6.5

AcciNACcD



Run 6111 mpswise, BCM: All Run 6111 mpswise, BCM: Beam OFF
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Run 6111 mpswise, lasPow: All Run 6111 mpswise, lasPow: Beam OFF
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Run 6111 mpswise, bpmAx: All
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Run 6111 mpswise, beam ON, laser ON Run 6111 mpswise, beam ON, laser OFF
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Run 6111 mpswise, beam ON, laser ON Run 6111 mpswise, beam ON, laser OFF
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Run 6111 mpswise, beam ON, laser ON Run 6111 mpswise, beam ON, laser OFF
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Run 6111 mpswise, beam ON, laser ON
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Run 6111 mpswise, beam ON, laser OFF
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Run 6111 mpswise, beam ON, laser OFF
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Run 6111 mpswise, beam ON, laser ON
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Run 6111 mpswise, beam ON, laser OFF
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